o Hoz

G0 -0 2

74 nalm
O V)y= 2000
LV = Z

e 2%
= L_H.L_g

=8
78 (M)
OER) =215
L) =0
NEHERENET

\ DO+
=\

A nlo-20
()= 2(-2)

VY= X4

24, Nl
o Qe

N0, QinE23d
A - (g DR = (0
Ly (1 8- Qo+ + 4
N =@
o) - 2E) Rliatte
- . NGan)
20 QL)) O = Ao
N 09 ap) = (10-+d
O =L il
Gl 2 L{U e
"0
, g N b _ -
52. OLALN [\t o #nu-H7
N = 0+ b= yn
oLoored = 20 GV = X2 l
074 8 MY - QL2
53. Aglo) oD 2
Fia) =&
4= 2 Ostuitj) u];
00N =220 -
= 4o \



7+ Flgl-20 1 £(glao)
QD) = 27> V(2 By = DD
_ \( A E O D
= -5 O] ’ J;: ®
Cl-5= (F? e o i
o I L_ﬁ
" 5 R
- G o |
Clov= O% UL E(Olay
0 - 0-3 Q) = 0=
= Clon = (@
0% 9 +4
50“ £GLom L"b CHH‘O‘“
(Xtcbij;fs £l = -a
C-3 = > G lok =0
b A C"L‘ )D
U4 Pion-a
- Ll n Hara!
CL;}@)__ @Oc—jl CJ(‘O(): =1
€ =122 £l-0- a2
A1) =\ L
. C
=i U+ +C

o L\h ’

0 0= Y-.0ny
h. Qo= Y-100
(. Y= \Aoo
Q(Htmom)
|06~ pAC1Aes )
|A0b - 35

= 470

|L1n-200
= W11

() Fatew)

0D 206
— 1700

LADO = .05LH0)
\Hob =
=B\1%0




